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Simpht (lv) Simplify: 481y 1y
(W) Nimphi)

- : i) Find the value of .

’ -w“\‘t"“')xl< (V‘ O X: log
::,:” }{all\.”‘f“.'&; tmﬁd a “t - 6 then find the value of u‘l A hI. '8 X “'("’H
(il Simplify: Y24 y"2" “;:‘2. ractorae: 125% - 21 gy2
3 Write short answers to any Six (6) question 4
(1) Use factorization (0 find the square root of: 4); iy 12x+9 | 1.
(i) Solve the inequality: 4X - 10.3'<21x - l.»8v (iii)  Define strict i"‘:qual'n- ’
(iv) Write the given equation in the form of y = mx teid-2x+y=0 Ies
(v) Define cartesian plane. (vi). Find thg: distance bem?en two points: A(-4 G ¢
{vii) Define right angle triangle. - (viii)y What is'meant by H-SEH,és Wiy
(ix) One exterior angle formed on producing one side of a parallelogram, is ;107 3

measures of its interior angles. k i - Fing u.,’
4. Write short answers to any Six (6) questions:
(i)  Define bisection of an angle. . 0 Ry ‘ 0
(i) Justify that 2 cm, 3 cm and § cm are not the lengths of triangle. :
(iii) Define ratio, (iv) Defire similar triangles. :

X ﬁcm : . ; ’ ; ) i .
(v) Find the value of x: - b - (v) Find"the area of given figure: i
| T ; . o cdem

(vii) Verify that the triangle having the following measures of sides are right-angled:

a=5Sem,b=12cm,c=13cm.__(vii)  Define ortho centre, ’
(ix) Constructa AABC, in which: mAB = 4.8cm, mBC = 3.7 cm, m£B = 60°

- - - (PART-II) B
Note: Attempt THREE questions in all. But question No.9 is Compulsory.
5. () Solve the equation with help of matrix inverse method:-3x — Ay = 4,x + =1
( ot m ] |
b) Simplity: | [ a )2

(b). mphty.'bl o e |

6. (a) Use logarithm table to find the value of: 43705 x 7355

; (b)lla+b+c=7andab+bc+ca=

ot 9 then fi 24 p24dd |
(2) Factorize by factor theorem: x? — y2 - nd the value of a |

‘ 22x + 40 . ~ '
(b Simplity to the lowest form; X =8, X' +6x+8
S IR B S oy
8. (a) Solve the inequalities: -(.<L;E<6
Y ﬁ:nBc" draw perpendicular bisectors of it sides and verify that
current: mAB = 4¢m, mBt < 4.8cm. mAE ‘ 24
9. Prove that "the rignt i AR = 3.60m

e bisector : ;
~OR_prove that “triangle gp EQUalsb:'s the sides of 3 triangle are concurrent™

€S and of equal altitudes are GW
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: (lx) Construct a AXYZ, m which: mXY = 5.5cm, mZX = 4.5 cm, mZZ=90° .

Note: Attempt THREE questions in‘all. But question No.9 is Compulsory.

8. (a) Solve: b
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S (iv) gimplify and write answer in 5 brg, ",

o e . .2
tan Simplify: \[ 37 vi)  Find the value of . ‘N |
(i) j"l ot g X A ( lo “ ) |
(v)  Find the vt gax t 1) (viii) Simplify: —sz‘g Iy |

. owest formi 5737 1) : |
(vii) Reduceto the | 2( {

42
i) Factorize.x? - 11X~
(3‘“ Write short answers to any Six

1 l\ y6
i L.CM: 39x7y'z,9 T
t::) B:gt:: imear inequality and write the standa

(6) questions: imranskill.com: )

(iv) Draw the point (4, -5) ong
¢

(vn) Fmd the distance between the points: AG. By
S ‘“

|
(iii) Solve: —§‘+5<l

(v) Define cartesian planc

| triangle.
81"12) l\ze’htl?isegt:ﬁ;eg; SnS Sg S.8.S.?7 (ix) Deﬁne parallelogram

4. Write'short answers to any Six (6) questions:

() Define the bisector of line segment.

@i) 3cm,4cmand 7 cm are not the lengths of the triangle. lee the reason, |
(iii) Define ratio. o (iv) Define Pylhagoras theorem_
(v) Find the value of x:- 4 ¢m X (vi) Define’ altitude of a triangle

(vii) Find the area of given figue |}
Jem 4

(viii) Define incentre of a triangle.

(PART - 1I)

5. (a) Use the matrix inversion melhod to solve linear equations: 4x + 2y = §
o MX-y=-

by Simplity: G 3@y

(a) Use log tables of find the value of: 0. 8176 x 13.64

(b) ¥ + ¥ + 22 = 78-and xy + yz + 2x = 59 then find the value of x +Y#!
1. (a) Factorize by factor theorem: x3 - 2y2 — +2

(b) Find the square root by division method: x* —10x3 + 37x2 - 60x + 30

(b) Con_struct trlangle ABC, draw t
"MAB = 5.3cm, m2A = 45°,
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